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Q.1

Ans

1. 

2. 

3. 

4. 

Question ID : 81616112427
Status : Answered

Chosen Option : 2

Q.2 उस विकल्प का चयन कीजिए जिसके  शब्दोंब्दों के  मध्य वही संबंध है, जो दिए गए शब्द–युग्म के  शब्दोंब्दों के
मध्य है।

क्रिके ट : शिखर धवन
Ans 1. कु श्ती : दीपा कर्मार्माकर

2. कबड्डी : रानी रामपाल

3. मुक्के बाजी : मैरी कॉम

4. शतरंरंज : साइना नेहवाल

Question ID : 81616112409
Status : Answered

Chosen Option : 3

Combined Graduate Level Examination 2020 Tier-l
Roll Number
Candidate Name
Venue Name iON Digital Zone iDZ 2 Industrial Area Panki
Exam Date 17/08/2021
Exam Time 9:00 AM - 10:00 AM
Subject Combined Graduate Level Examination 2020 Tier 1

Section : General Intelligence and Reasoning
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Q.3

Ans

1. 

2. 

3. 

4. 

Question ID : 81616113741
Status : Answered

Chosen Option : 2

Q.4 िदए गए िवक�ो ंम� से वह वण�-समूह चुन� जो िन�िल�खत �ंखला म� ��िच� (?) के �थान पर आएगा?

WUW, TSV, QQU, NOT, ?
Ans 1. LNT

2. JNT

3. KMS

4. MNS

Question ID : 81616112404
Status : Answered

Chosen Option : 1

Q.5 वह िवक� चुन� िजसम� सं�ाएँ एक दूसरे से उसी तरह से संबंिधत ह� जैसे नीचे िदए गए सेट की सं�ाएँ
एक दूसरे से संबंिधत ह�।

(15, 315, 7)
Ans 1. (14, 197, 4)

2. (11, 188, 6)

3. (17, 401, 12)

4. (18, 486, 9)

Question ID : 81616113731
Status : Not Answered

Chosen Option : --
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Q.6

Ans

1. 

2. 

3. 

4. 

Question ID : 81616112426
Status : Answered

Chosen Option : 3

Q.7 िकसी िविश� कूटभाषा म� 'MARGIN' को 'SBNOJH’ के �प म� िलखा जाता है। तो उसी भाषा म�
‘PRAYER’ को कैसे िलखा जाएगा?

Ans 1. QSBSFZ

2. BSQSFZ

3. BSQZFS

4. BSQQFZ

Question ID : 81616113723
Status : Answered

Chosen Option : 2

Q.8 वह िवक� चुन� जो तीसरे श� से उसी �कार संबंिधत है, िजस �कार दूसरा श� पहले श� से संबंिधत
है। 

कािट� �ज : ि�ंटर :: मदरबोड� : ?
Ans 1. मॉिनटर

2. कंुजीपटल (कीबोड�)

3. क� �ीय ��मण इकाई (स�ट� ल �ोसेिसंग यूिनट)

4. मशीन

Question ID : 81616114024
Status : Answered

Chosen Option : 4
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Q.9 नीचे चार श� िदए गए ह� िजनम� से तीन िकसी संदभ� म� एक समान ह� और उनम� से एक असंगत है। उस
असंगत श� का चयन कर�।

Ans 1. शांित

2. वा�ु�

3. उ�ात

4. आलोड़न

Question ID : 81616113518
Status : Answered

Chosen Option : 1

Q.10 िदए गए िवक�ो ंम� से वह सं�ा चुन� जो िन�िल�खत �ंृखला म� ��िच� (?) के �थान पर आएगी?

24, 48, 51, 204, 209, ?
Ans 1. 416

2. 215

3. 1254

4. 1047

Question ID : 81616114031
Status : Answered

Chosen Option : 2

Q.11 वह िवक� चुन� िजसम� सं�ाएँ एक दूसरे से उसी तरह से संबंिधत ह� जैसे नीचे िदए गए सेट की सं�ाएँ
एक दूसरे से संबंिधत ह�।

(541, 14, 737)
Ans 1. (832, 8, 895)

2. (635, 18, 924)

3. (432, 25, 1108)

4. (697, 13, 866)

Question ID : 81616113530
Status : Answered

Chosen Option : 3

Q.12 राजेश ने ₹136 म� 6 आम, 3 केले और 10 अम�द खरीदे। यिद आम, केले और अम�दो ंके मू� य (�ित
नग) का अनुपात 3 : 2 : 1 है, तो 1 आम, 2 केले और 3 अम�दो ंका कुल मू� य िकतना होगा?

Ans 1. ₹46

2. ₹27

3. ₹38

4. ₹40

Question ID : 81616112421
Status : Answered

Chosen Option : 2
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Q.13 गिणतीय िच�ो ंका वह सही संयोजन चुन� िजसे �िमक �प से * िच�ो ंके � थान पर रखने से समीकरण
संतुिलत हो जाएगा।

1496 * 8 * 13 * 40 * 5 * 0
Ans 1. ÷, −, +, ×, =

2. ÷, ×, =, +, −

3. ÷, +, −, ×, =

4. ÷, +, =, −, ×

Question ID : 81616113531
Status : Answered

Chosen Option : 2

Q.14 िदए गए कथनो ंऔर िन�ष� को �ान से पढ़�। कथनो ंम� दी गई जानकारी को स� य मानते �ए, भले ही
वह सामा� �प से �ात त�ो ंसे िभ� �तीत हो, िनधा��रत कर�  िक कौन से िन�ष� िदए गए कथनो ंका
तािक� क �प से अनुसरण करते ह�।

कथन:
कुछ काड�, पो�काड� ह�।
कुछ काड�, िलफाफे ह�।
सभी िलफाफे, कॉिपयाँ ह�।

िन�ष�:
I. कुछ कॉिपयाँ, िलफाफे ह�।
II. कुछ पो�काड�, कॉिपयाँ ह�।
III. कुछ काड�, कॉिपयाँ ह�।

Ans 1. केवल िन�ष� I अनुसरण करता है

2. केवल िन�ष� II और III अनुसरण करते ह�

3. केवल िन�ष� I और III अनुसरण करते ह�

4. केवल िन�ष� I और II अनुसरण करते ह�

Question ID : 81616113727
Status : Answered

Chosen Option : 1

Q.15 िदए गए िवक�ो ंम� से वह अ�र चुन� जो िन�िल�खत �ंखला म� ��िच� (?) के �थान पर आएगा?

P, N, J, H, ?
Ans 1. D

2. B

3. E

4. C

Question ID : 81616112412
Status : Answered

Chosen Option : 1

Q.16 वह िवक� चुन� जो चौथी सं�ा से उसी �कार संबंिधत है, िजस �कार दूसरी सं�ा से पहली सं�ा
और छठी सं�ा से पाँचवी ंसं�ा संबंिधत है।

1008 : 8 :: ? : 6 :: 220 : 4
Ans 1. 524

2. 350

3. 518

4. 443

Question ID : 81616113729
Status : Answered

Chosen Option : 3
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Q.17 P, Q का भाई है। S, P का िपता है। R, S का भाई है। यिद T, R की माँ है, तो P का T से �ा संबंध है?
Ans 1. पोता

2. भाई

3. िपता

4. चाचा

Question ID : 81616112413
Status : Answered

Chosen Option : 1

Q.18 नीचे चार सं�ा-यु� िदए गए ह� िजनम� से तीन िकसी संदभ� म� एक समान ह� और उनम� से एक असंगत
है। उस असंगत सं�ा-यु� का चयन कर�।

Ans 1. 461 : 20

2. 239 : 14

3. 305 : 16

4. 182 : 12

Question ID : 81616113528
Status : Answered

Chosen Option : 4

Q.19 िकसी िविश� कूटभाषा म�, ‘REASON’ को ‘5410219’ और ‘HEALTHY’ को ‘716231216’ के �प म�
कूटब� िकया गया है, तो उसी भाषा म� ‘DIVULGE’ को कैसे कूटब� िकया जाएगा?  

Ans 1. 13704349

2. 24134383

3. 10733494

4. 21433438

Question ID : 81616113522
Status : Answered

Chosen Option : 3
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Q.20

Ans

1. 

2. 

3. 

4. 

Question ID : 81616112425
Status : Answered

Chosen Option : 4

Q.21

Ans 1. 

2. 

3. 

4. 

Question ID : 81616113534
Status : Answered

Chosen Option : 2
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Q.22

Ans 1. 

2. 

3. 

4. 

Question ID : 81616113535
Status : Answered

Chosen Option : 1

Q.23

Ans

1. 

2. 

3. 

4. 

Question ID : 81616114038
Status : Answered

Chosen Option : 1
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Q.24 वह सही िवक� चुन� जो िदए गए श� दो ंको उस �म म� दशा�ता है िजसम� वे अं�ेजी श�कोश म� आते ह�। 

1. Introduce
2. Internship
3. Interaction
4. Interjection
5. Intervene
6. Interruption

Ans 1. 3, 4, 2, 6, 5, 1

2. 3, 4, 2, 6, 1, 5

3. 3, 2, 4, 6, 5, 1

4. 3, 4, 2, 5, 6, 1

Question ID : 81616114021
Status : Answered

Chosen Option : 1

Q.25 नीचे चार वण�-समूह िदए गए ह� िजनम� से तीन िकसी संदभ� म� एक समान ह� और उनम� से एक असंगत
है। उस असंगत वण�-समूह का चयन कर�।

Ans 1. LQW

2. PUB

3. NSY

4. TYE

Question ID : 81616114022
Status : Not Answered

Chosen Option : --

Q.1 िन� म� से िकसका �शासन एक ऐसा मॉडल बना, िजसका अनुसरण अकबर ने िकया, जब उसने मुगल
सा�ा� को संगिठत िकया?

Ans 1. इ�ुतिमश

2. शेरशाह सूरी

3. गयासु�ीन बलबन

4. बहलूल लोदी

Question ID : 81616113757
Status : Answered

Chosen Option : 2

Q.2 िन� म� से कौन-सा, ‘सफ़ेद चीटंी (�ाइट एंट)’ का दूसरा नाम है?
Ans 1. दीमक (टरमाइट)

2. ततैया (वा�)

3. म�ी (हाउस�ाई)

4. म�र (मॉ��टो)

Question ID : 81616114050
Status : Answered

Chosen Option : 1

Section : General Awareness
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Q.3 िन� म� से कौन-सी, एक �ीनहाउस गैस नही ंहै?
Ans 1. हीिलयम

2. जल वा�

3. सतह के �र पर पाई जाने वाली ओज़ोन

4. नाइट� स ऑ�ाइड

Question ID : 81616113746
Status : Answered

Chosen Option : 2

Q.4 भीतरकिनका रा�� ीय उ�ान िन� म� से िकस रा� म� ��थत है?
Ans 1. केरल

2. मेघालय

3. ओिडशा

4. गोवा

Question ID : 81616113549
Status : Answered

Chosen Option : 1

Q.5 ‘द �े� फॉर इ��टी इन डेवलपम�ट (The Quest for Equity in Development)’ नामक पु�क के
लेखक कौन ह�?

Ans 1. मों�टेक िसंह आहलूवािलया

2. अम�� सेन

3. मनमोहन िसंह

4. रघुराम राजन

Question ID : 81616112446
Status : Answered

Chosen Option : 4

Q.6 अ�ूबर 2020 म�, दुिनया की सबसे लंबी राजमाग� सुरंग का उद्घाटन ______ रा� म� िकया गया था। 
Ans 1. म� �देश

2. िहमाचल �देश

3. अ�णाचल �देश

4. उ�र �देश

Question ID : 81616112452
Status : Answered

Chosen Option : 3

Q.7 20 जनवरी 1972 तक, िकस वत�मान भारतीय रा� को नॉथ�-ई� �ंिटयर एज�सी (NEFA) के नाम से
जाना जाता था?

Ans 1. अ�णाचल �देश

2. िस��म

3. असम

4. नागाल�ड

Question ID : 81616112439
Status : Answered

Chosen Option : 3
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Q.8 एक िनि�त समय अविध के दौरान, अिज�त या अनािज�त, मौि�क या अ� �कार के लाभो ंकी मा�ा को
िकस नाम से जाना जाता है?

Ans 1. सेवा (Services)

2. मान (Value)

3. कीमत (Price)

4. आय (Income)

Question ID : 81616112431
Status : Answered

Chosen Option : 3

Q.9 पु�भूित, िज�ोन� थाने�र से शासन िकया था, ______ राजवंश के सं�थापक थे।
Ans 1. चालु�

2. पा��

3. चेर

4. वध�न

Question ID : 81616112443
Status : Answered

Chosen Option : 2

Q.10 िकस वष� अटल िबहारी बाजपेयी ने शांित घोषणाप� पर ह�ा�र करने के िलए लाहौर की बस या�ा की
थी?

Ans 1. 1994

2. 1991

3. 1997

4. 1999

Question ID : 81616112448
Status : Answered

Chosen Option : 2

Q.11 धनपत राय �ीवा�व िकस नाम से मश�र ह�?
Ans 1. �ेमचंद

2. अ�ेय

3. िदनकर

4. िनराला

Question ID : 81616114061
Status : Answered

Chosen Option : 4

Q.12 क� � सरकार �ारा जनवरी 2021 म� ल�ाख म� भाषा, सं�ृित और भूिम के संर�ण के िलए गिठत सिमित
का �मुख िन� म� से िकसे बनाया गया है?

Ans 1. पीयूष गोयल

2. राज कुमार िसंह

3. जी. िकशन रे�ी

4. अजु�न मंुडा

Question ID : 81616113541
Status : Answered

Chosen Option : 2
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Q.13 ______, एक एकल कोिशका �ारा जनन�म, पूण� ��� को पैदा करने की �मता को कहते ह�।
Ans 1. उ��रवत�न (�ूटेशन)

2. �ित�पण (�ोिनंग)

3. ब�श�ता (�ू�रपोट�सी)

4. पूण�श�ता (टोिटपोट�सी)

Question ID : 81616113546
Status : Answered

Chosen Option : 4

Q.14 हीरो इंिडयन सुपर लीग के 2020-21 सं�रण के सभी मैच िन� म� से िकस रा� म� खेले जा रहे ह�?
Ans 1. कना�टक

2. गोवा

3. केरल

4. पि�म बंगाल

Question ID : 81616114065
Status : Answered

Chosen Option : 1

Q.15 िन� म� से कौन-सा, भारत के तीन '�णालीगत �प से मह�पूण� घरेलू ब�को'ं म� से एक है?
Ans 1. आर.बी.एल. (RBL) ब�क

2. फेडरल ब�क

3. भारतीय �ेट ब�क (एस.बी.आई. - SBI)

4. ए��स ब�क

Question ID : 81616113543
Status : Answered

Chosen Option : 3

Q.16 एक ��� का वैिदक �ि�कोण और समाज से उसका संबंध जीवन के चार उ�े�ो ंसे िनधा��रत होता है।
िन� म� से कौन-सा इन उ�े�ो ंम� से एक नही ंहै?

Ans 1. धम�

2. अथ�

3. मो�

4. िस��

Question ID : 81616113754
Status : Answered

Chosen Option : 2

Q.17 िन� म� से िकसने वैशेिषक दश�न का मूल पाठ िलखा है?
Ans 1. जैिमनी

2. कणाद

3. पतंजिल

4. शंकराचाय�

Question ID : 81616113742
Status : Answered

Chosen Option : 2
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Q.18 भू-पप�टी का लगभग 98% भाग आठ त�ो ंसे बना है। िन� म� से कौन-सा त� इनम� से एक नही ंहै?
Ans 1. िसिलकॉन

2. कै��शयम

3. काब�न

4. ऑ�ीजन

Question ID : 81616114056
Status : Answered

Chosen Option : 1

Q.19 भारतीय संिवधान के िन� म� से िकस अनु�ेद म� देवनागरी िलिप म� िलखी िहंदी को संघ की
आिधका�रक भाषा के �प म� अपनाया गया था?

Ans 1. अनु�ेद 343 (1)

2. अनु�ेद 108

3. अनु�ेद 123

4. अनु�ेद 231

Question ID : 81616113558
Status : Answered

Chosen Option : 1

Q.20 1962 के एिशयाई खेलो ंके �ण� पदक िवजेता टीम के सद�, कौन से दो महान फुटबॉलरो ंका 2020 म�
िनधन हो गया?

Ans 1. यूसुफ खान और टी.ए. रहमान

2. चु�ी गो�ामी और पी.के. बनज�

3. राम बहादुर और जरनैल िसंह

4. ि�शानू डे और सी. �साद

Question ID : 81616114069
Status : Answered

Chosen Option : 4

Q.21 बल की िदशा म� िव�थापन के साथ बल के गुणन �ारा �ा िन�िपत िकया जाता है?
Ans 1. आवेग

2. काय�

3. संवेग

4. श��

Question ID : 81616113749
Status : Answered

Chosen Option : 2

Q.22 जनवरी 2021 म�, िन� म� से िकसे एिशयाई ि�केट प�रषद के अ�� के �प म� िनयु� िकया गया था?
Ans 1. रा�ल �िवड़

2. अिनल कंुबले

3. जय शाह

4. सौरव गांगुली

Question ID : 81616114067
Status : Answered

Chosen Option : 3
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Q.23 िन� म� से कौन से त� के लवण सबसे अिधक घुलनशील होते ह�? 
Ans 1. �िबिडयम

2. सोिडयम

3. िलिथयम

4. पोटैिशयम

Question ID : 81616112437
Status : Answered

Chosen Option : 2

Q.24 इंिडयन एसोिसएशन की �थापना िन� म� से िकस वष� म� �ई थी?
Ans 1. 1876

2. 1881

3. 1903

4. 1856

Question ID : 81616113553
Status : Answered

Chosen Option : 2

Q.25 िन� म� से कौन-सा देश 2022 के फीफा (FIFA) िव� कप की मेजबानी करेगा?
Ans 1. �ाज़ील

2. संयु� रा� अमे�रका

3. �स

4. क़तर

Question ID : 81616113763
Status : Answered

Chosen Option : 4

Q.1

Ans 1. 

2. 

3. 

4. 

Question ID : 81616112372
Status : Answered

Chosen Option : 1

Section : Quantitative Aptitude
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Q.2

Ans 1. 

2. 

3. 

4. 

Question ID : 81616113583
Status : Answered

Chosen Option : 4

Q.3

Ans 1. 

2. 

3. 

4. 

Question ID : 81616113569
Status : Answered

Chosen Option : 2

Q.4

Ans 1. 

2. 

3. 

4. 

Question ID : 81616113580
Status : Answered

Chosen Option : 3

Q.5

Ans 1. 

2. 

3. 

4. 

Question ID : 81616112456
Status : Answered

Chosen Option : 4
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Q.6

Ans 1. 

2. 

3. 

4. 

Question ID : 81616112464
Status : Answered

Chosen Option : 2

Q.7

Ans 1. 

2. 

3. 

4. 

Question ID : 81616113990
Status : Answered

Chosen Option : 2

W
W

W
.R

an
ke

rG
.C

O
M

   
  W

W
W

.R
an

ke
rG

.C
O

M
   

  W
W

W
.R

an
ke

rG
.C

O
M

   
  W

W
W

.R
an

ke
rG

.C
O

M



0

https://ssc.digialm.com//per/g27/pub/2207/touchstone/AssessmentQPHTMLMode1//2207O2182/2207O2182S13D68191/16298757987722931/… 17/28

Q.8

Ans 1. 

2. 

3. 

4. 

Question ID : 81616112983
Status : Answered

Chosen Option : 3

Q.9

Ans 1. 

2. 

3. 

4. 

Question ID : 81616113770
Status : Answered

Chosen Option : 1

Q.10

Ans 1. 

2. 

3. 

4. 

Question ID : 81616113773
Status : Answered

Chosen Option : 1

Q.11

Ans 1. 

2. 

3. 

4. 

Question ID : 81616113572
Status : Answered

Chosen Option : 3
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Q.12

Ans 1. 

2. 

3. 

4. 

Question ID : 81616113578
Status : Answered

Chosen Option : 2

Q.13

Ans 1. 

2. 

3. 

4. 

Question ID : 81616114081
Status : Answered

Chosen Option : 3

Q.14

Ans 1. 

2. 

3. 

4. 

Question ID : 81616113992
Status : Answered

Chosen Option : 4
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Q.15

Ans
1. 

2. 

3. 

4. 

Question ID : 81616114071
Status : Answered

Chosen Option : 4

Q.16

Ans 1. 

2. 

3. 

4. 

Question ID : 81616113573
Status : Answered

Chosen Option : 4

Q.17

Ans 1. 

2. 

3. 

4. 

Question ID : 81616113779
Status : Answered

Chosen Option : 4

Q.18

Ans 1. 

2. 

3. 

4. 

Question ID : 81616112468
Status : Not Answered

Chosen Option : --
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Q.19

Ans 1. 

2. 

3. 

4. 

Question ID : 81616112471
Status : Not Answered

Chosen Option : --

Q.20

Ans 1. 

2. 

3. 

4. 

Question ID : 81616113776
Status : Not Answered

Chosen Option : --

Q.21

Ans 1. 

2. 

3. 

4. 

Question ID : 81616113565
Status : Not Answered

Chosen Option : --

Q.22

Ans 1. 

2. 

3. 

4. 

Question ID : 81616114191
Status : Answered

Chosen Option : 4
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Q.23

Ans 1. 

2. 

3. 

4. 

Question ID : 81616114086
Status : Not Answered

Chosen Option : --

Q.24

Ans 1. 

2. 

3. 

4. 

Question ID : 81616114075
Status : Not Answered

Chosen Option : --

Q.25

Ans 1. 

2. 

3. 

4. 

Question ID : 81616112981
Status : Not Answered

Chosen Option : --

Section : English Comprehension
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Q.1 Select the most appropriate ANTONYM of the given word.

Slur
Ans 1. Insult

2. Compliment

3. Assortment

4. Mixture

Question ID : 81616114111
Status : Answered

Chosen Option : 3

Q.2 Select the most appropriate meaning of the given idiom.

Herculean task
Ans 1. A job that requires a lot of talking and information

2. A job that requires a large amount of physical strength

3. A job that only weak people are assigned

4. A job that makes everyone feel proud

Question ID : 81616113810
Status : Answered

Chosen Option : 2

Q.3 Select the most appropriate synonym of the given word.

Termination
Ans 1. Conviction

2. Conclusion

3. Consolation

4. Conduction

Question ID : 81616112494
Status : Answered

Chosen Option : 1

Q.4 Select the most appropriate option to fill in the blank.

Social isolation, overcrowding, the ______ of our society and several other factors are
responsible for stress.

Ans 1. attractiveness

2. cheapness

3. affordability

4. competitiveness

Question ID : 81616113614
Status : Answered

Chosen Option : 3
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Q.5 Select the option that can be used as a one-word substitute for the given group of
words.

Having no boundaries or limits
Ans 1. Infinite

2. Colossal

3. Enormous

4. Tremendous

Question ID : 81616113611
Status : Answered

Chosen Option : 1

Q.6 Select the most appropriate ANTONYM of the given word.

Stalwart
Ans 1. Cowardly

2. Robust

3. Firm

4. Stout

Question ID : 81616113809
Status : Answered

Chosen Option : 3

Q.7 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the right order to form a meaningful and coherent paragraph.

A. Most important, however, are its oils, which are extracted, processed, and marketed
for culinary, medicinal, and cosmetic uses alike. 
B. Coconut products are used to make everything from clothing to animal feed to
beauty creams.
C. The coconut is a very useful plant with a wide range of products being sourced
from it. 
D. Its kernel is harvested for its edible flesh and delicious water, while its husk is used
for its strong fibres.

Ans 1. ADBC

2. BCAD

3. CBDA

4. CADB

Question ID : 81616113805
Status : Answered

Chosen Option : 3

Q.8 Select the option that expresses the given sentence in passive voice.

The man bought a parrot that could speak five languages.
Ans 1. A parrot that could spoke five languages bought the man.

2. A parrot that spoken five languages was bought by the man.

3. A parrot that spoke five languages had been bought by the man.

4. A parrot that spoke five languages was bought by the man.

Question ID : 81616113592
Status : Answered

Chosen Option : 4
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Q.9 The following sentence has been divided into parts. One of them contains an error.
Select the part that contains the error from the given options.

The sea has become / an cheap dumping ground / for all kinds / of waste products.
Ans 1. an cheap dumping ground

2. for all kinds

3. of waste products

4. The sea has become

Question ID : 81616113792
Status : Answered

Chosen Option : 1

Q.10 Select the most appropriate option to substitute the underlined segment in the given
sentence. If no substitution is required, select ‘No substitution’.

Either the bears or the lion has escaped from the zoo.
Ans 1. No substitution

2. have escaped from the zoo

3. are escaped from the zoo

4. is escaped from the zoo

Question ID : 81616112484
Status : Answered

Chosen Option : 2

Q.11 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

Won’t you / please come / to help me / along this heavy box?
Ans 1. to help me

2. Won’t you

3. please come

4. along this heavy box

Question ID : 81616113591
Status : Answered

Chosen Option : 2

Q.12 Select the most appropriate synonym of the given word.

Munch
Ans 1. Drew

2. Flew

3. Chew

4. Burp

Question ID : 81616112493
Status : Answered

Chosen Option : 3
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Q.13 Select the INCORRECTLY spelt word.
Ans 1. Bouquet

2. Abridge

3. Pledge

4. Acquarium

Question ID : 81616114117
Status : Answered

Chosen Option : 4

Q.14 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the right order to form a meaningful and coherent paragraph.

A. But in snapping at the supposed treasure, he dropped the bit he was carrying, and
so lost all.
B. When he was crossing a river on his way home, he saw his own shadow reflected in
the stream below. 
C. Thinking that it was another dog with another piece of meat, he resolved to make
himself master of that also.
D. A dog had stolen a piece of meat out of a butcher's shop.

Ans 1. DACB

2. BDCA

3. ACDB

4. DBCA

Question ID : 81616114107
Status : Answered

Chosen Option : 2

Q.15 Select the INCORRECTLY spelt word.
Ans 1. Incriminating

2. Embodiment

3. Unpretensious

4. Cancellation

Question ID : 81616114118
Status : Answered

Chosen Option : 3

Q.16 Select the option that expresses the given sentence in indirect speech.

“How beautiful she is!” said Betty.
Ans 1. Betty exclaimed with joy that she was very beautiful.

2. Betty exclaimed with joy she is very beautiful.

3. Betty exclaimed with joy how beautiful she was.

4. Betty exclaimed with joy how beautiful she is.

Question ID : 81616112482
Status : Answered

Chosen Option : 1
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Q.17 Select the option that can be used as a one-word substitute for the given group of
words.

One who studies the occult meanings of numbers and their supposed influence on
human life

Ans 1. Numerologist

2. Astrologer

3. Prophet

4. Astronomer

Question ID : 81616113610
Status : Answered

Chosen Option : 3

Q.18 Select the most appropriate meaning of the given idiom.

Pipe dream
Ans 1. A dream or idea that is loudly proclaimed

2. A dream or idea that is nearly accomplished

3. A dream or idea that is unlikely to happen

4. A dream or idea that keeps getting repeated

Question ID : 81616113811
Status : Answered

Chosen Option : 1

Q.19 Select the most appropriate option to fill in the blank.

Advertisers often use rhyme and ______.
Ans 1. alteration

2. alliteration

3. denunciation

4. designation

Question ID : 81616112504
Status : Answered

Chosen Option : 4

Q.20 Select the most appropriate option to substitute the underlined segment in the given
sentence. If no substitution is required, select ‘No substitution required’. 

Hears to the news tonight at 9 p.m., as there will be an important announcement about
the budget.

Ans 1. Hear to

2. Listened to

3. No substitution required

4. Listen to

Question ID : 81616113594
Status : Answered

Chosen Option : 4
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Comprehension:
In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Water, a substance composed of the chemical elements hydrogen and oxygen (1)______ in
gaseous, liquid, and solid states. It is (2)______ of the most plentiful and essential (3)______
compounds. A tasteless and odourless liquid at room temperature, it has the important
(4)______ to dissolve many other substances. Indeed, the (5)______ of water as a solvent is
essential to living organisms.

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank number 1.
Ans 1. exists

2. lasts

3. survives

4. endures

Question ID : 81616114102
Status : Answered

Chosen Option : 1

Comprehension:
In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Water, a substance composed of the chemical elements hydrogen and oxygen (1)______ in
gaseous, liquid, and solid states. It is (2)______ of the most plentiful and essential (3)______
compounds. A tasteless and odourless liquid at room temperature, it has the important
(4)______ to dissolve many other substances. Indeed, the (5)______ of water as a solvent is
essential to living organisms.

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank number 2.
Ans 1. unique

2. lone

3. one

4. single

Question ID : 81616114103
Status : Answered

Chosen Option : 3

Comprehension:
In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Water, a substance composed of the chemical elements hydrogen and oxygen (1)______ in
gaseous, liquid, and solid states. It is (2)______ of the most plentiful and essential (3)______
compounds. A tasteless and odourless liquid at room temperature, it has the important
(4)______ to dissolve many other substances. Indeed, the (5)______ of water as a solvent is
essential to living organisms.

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank number 3.
Ans 1. by

2. in

3. for

4. of

Question ID : 81616114104
Status : Answered

Chosen Option : 4
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Comprehension:
In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Water, a substance composed of the chemical elements hydrogen and oxygen (1)______ in
gaseous, liquid, and solid states. It is (2)______ of the most plentiful and essential (3)______
compounds. A tasteless and odourless liquid at room temperature, it has the important
(4)______ to dissolve many other substances. Indeed, the (5)______ of water as a solvent is
essential to living organisms.

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank number 4.
Ans 1. ability

2. knack

3. proficiency

4. competence

Question ID : 81616114105
Status : Answered

Chosen Option : 3

Comprehension:
In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Water, a substance composed of the chemical elements hydrogen and oxygen (1)______ in
gaseous, liquid, and solid states. It is (2)______ of the most plentiful and essential (3)______
compounds. A tasteless and odourless liquid at room temperature, it has the important
(4)______ to dissolve many other substances. Indeed, the (5)______ of water as a solvent is
essential to living organisms.

SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank number 5.
Ans 1. velocity

2. validity

3. veracity

4. versatility

Question ID : 81616114106
Status : Answered

Chosen Option : 4
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